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Section A: Multiple Choice Questions (68 marks)

For each question frem 1 to 30 four options are given. Oue of them is the most
suitable answer. Make your cheice (1, 2, 3 or 4) on the Optical Answer Sheet.

1. The diagram below shows a classification of some organisms.

@A o/ [c
]

| | 1 L
bl | A e/ [o
A B C D

in which group does the organism below belong t0?

<>

(1)
)
€)
C)

Cow»

2. Which one of the following diagrams below shows the life cycle of a plant?
63 (2)

/—\ seedling ﬂower/_—\ seed
adult / ' Kﬁwt ‘/
C))

seed

| plant
3)
m

flower

N,
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3. Which

(1)
2)
3)

@

A
B
c
D

(1)
2
(3}
O

one of the following shows the path taken by the food we eat?

large ___rmall —» anus

mouth —> stomach —* .~ . . istestine

mouth small_’m_»hrge —» anus
intestine micstine

large amall

th —» —> stomach—» . ° . small
mou gullet intoatine —

intestine

" Which of the following actions involve the use of your joints?

Smelling your food

" Snapping your fingers

Swellowing your food
Clapping of your hands

A and B only

B and D only

A, B and C only -
B, C and D only

s. What are some characteristics of exhaled air?

A
B
C
D

(1)
)
3)
)

It contains more dust particles than the sumounding air.
It contains more carbon dioxide than inhaled air.

It contains less oxygen than inhaled air. -

It is warmer than the surrounding air.

A and C only
C and D only
B, Cand D only
A,BCandD

6.  Ahmad breathes out onto a metal spoon and obscrved that thore were tiny droplets
formed on it. Which on¢ of the following is the comvect reason to explain his
observation? )

)
@
@
(4
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He warms up the spoon with his breath, 5o the water vapour from the sir
condenses oa it.

There is water vapour in Ahmad’s breath, s0 a2 he breathez out, it
condenses on the cool surface of the metal gpoon.

There is water vapour in Ahmad’s breath, se a8 he breathes out, it
condenses ca the warm surface of the metal apoon.

The metal spoen being a good conductor of heat, conducts the heat from
Abmad quickly, allowing the water vapour from the air to condense on it.
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The diagram below represents part of the cinrculatosy system. The arrows represent
the two main blood vessels, X and Y, that send blood towards and away from the

small intestines.

Select the correct comparison between the blood drawn from X and Y.

Blooddmnfronx BlooddrawnfmnY
(1) It has more sugar. Ithaslesssugar. - -
2) It does not have any sugar. It has sugar.
?) 1t has less dissolved oxygen. It has more dissolved oxygen.

4 It has less dissolved carbon dioxide.

It has more dissolved carbon dioxide.

The diagram below shows a plant cell.

Which structure in the cell contains information that can be passed on to the

young?

(1) A
(2) B
@ C
4 D

An animal X had a mass of 2 g when it was | week old. It had a mass of 27g
when it was 4 weeks old. Which of the following would have contributed to the

increase in mass?

A Cell division

B Cell death
C Cell growth,
(1) Aonly

(2) Conly

(3) AandConly
(4) B and C only

CH/PG/SC/CA1/2005 3




10.  Which of the ﬁollowmgsubs&ncesfomdmthebloodmalsoneoessary for

photosynthesis to take place?
A sugar

B water

C oxygen

D carbon dioxide

(1) AandBoaly
(2) AandCoaly
(3) BandDonly
(4) B,CandD only

11. - Wei Min wanted to find out the factors-that would affect photosynthesis. H
prepared 4 set-ups using identice! plants as shown below.

T E SN e "a_l'. o

In which one of his set-upg, W, X YorZwouldhenpulthe plant to
photosynthesize?

(D Set-up W
2 Set-up X
3) Set-upY
“4) Set-up Z



12.

13.

14.

Which of these statement(s) is/are true of both the Ladder Fern and the Pine Tree?

A
B
C

(1)
)]
(3)
“

They reproduce from spores.
They are non-flowering plants.
They need sunlight to make food.

A only
C only
A and C only
B and C only

The characteristics of 4 organisms wese recorded in a table as shown below.

Nusnber of legs R
Animal 2 4 6 8 Feelers | Wings
A J S J
B : J
C J - J J
D - -
Which animal is most likely to be an insect?
Q) A
2 B
3 C
4 D
The table below shows how gome plants have been classified.
A B
Croton Balsam
Which of the following pairs of headings is comect?
A
(1) Have colourful leaves Have green leaves
(2) Cannot maks their own food Can make their own food
3) Have strong stem Have weak stem
4) Are poisonous

Are non poisonous




15.  Look at the pictures below carefully.

Group Y

The animals in Groups Y and Z are similar in that they have

(1) legs
(2) feelerss
(3) 3 bodyparts

(4) one pair of wings

16.  Study the flowchart below.

Does it

Animal—» Isitwarm <o have ﬁ. D
blooded? — >  feathers?
No lNo
v
Does it have Yes
ashell? ~ = B C
/
No
v
A
What could Animals A, B, C or D be?
A B C D
(D crocodile prawn rat cat
2) cockroach ant cow cagle
A3) snake mosaquito poldfish cTow
@) lizard turtie bat | . penguin




@ The characteristic or property that we use for classifying things depends on the

of the classification.

(1)
(2)
(€))
@

grouping
diversity
materials

18.  Rubber is.used to make Part A of the catapult shown below. What property of
rubber makes it suitable to make Part A?

(1)
(2)
(3)
@

Rubber is waterproof. )
Rubber is non-magnetic. '

Rubber is highly flexible.

Rubber is a good insulator of heat.

19.  The hardness of a mineral is measured by how easy it is soratched by another
mineral. The hardness of cach material is éhown below on a scale from 1 to 10,
with 10 being the hardest.

121

----------------------------------------------------------

Hardness
N

................................................

..................

ruby graphite silver opal diamond quariz  pearl
Minerals

Which one of the following correctly orders the minerale in the correct order from

the hardest to the softest?

(1)  ruby, quartz, opal

(2)  pearl, opal, silver

(3)  graphite, pear, silver

(4) ruby, quartz, diamond
CH/PE/SC/CAL /2005 7



20.

21,

The table below shows how some obyects are classified.

[ Group X Group Y
Styrofoam cup Baking tray
Vacuum flask Bulb filament

What is the difference between the materials used to make the 2 groups of objects?

Group X Grouwp Y
Q) | Magnetic materials Nosa-magnetic materials
2) Transparent materials Opague maderials
A) Insulators of heat Good conductors of heat
@) Good conductors of electricity Poor insulators of electricity

Read the informationprovided below and use it 10 answer questione 21 and 22.

A block of wood was pulied acroes different surfaces as shown below. The force
needed_to pull the block across each surface was measured and recorded.

’ biock of wood

PR
y

The results are shown in the table below.

Surface tested Force needed to move the block in Newtons (N)
Sandpaper 21
Grass ' ?
Concrete , 16

The following observations were also made..

It was harder to move the block across grass than acroes concrete.
It was easier to move the block across grass than across saadpaper.

How much force would have been needed to move the block across grass?

() 2N
¥2) I8N
(3) 15N
(4 13N

CH/P&/SCACAN 2005 8



22. What was the aim of the experiment?

1)
8
()
C)

To show that the rougher the surface, the more force is needed.

To show that the force needed is not dependent on the surface.

To find out which surface needs the most force to move the block.

To find out whether the block of wood can move across different surfaces.

23.  Sally pumped 300cm? of air into cach of the containers A, B and C below.

I

100cm*

0 2

B C

What was the volume of air in each container afler she had pumped in the air?

A B C
1) 800cm” 600cm’ 400cm”
2) 300cor” 300cm” 300cm”
¥3) 500cm’ 300cm’ 100cm”
(4) 500cm” 300cm” 300cm’
24.  The table below shows some properties of matter.
Has mass | Has a definite volume | Has a definite shape
A v
IB v v
C v v_ N

Which state of matter does each of the letters A, B and C represent?

0))
@
3)
4

CH/P@SC/ACAN/2005

A B C |
Sokid Liquid Gas
Liquid Solid Gas
Liquid Gas Solid
Gas Liquid Solid

IO



26.

A glass of water at room temperature was put into a freezer for 6 hours.
thhomoftbeﬁoﬂowmggnphsbwwﬁechngemthcw
of the water?

W @

| Temperature £ C)
B 8

L )

3) . @)

Tempsrature ¢ C)
]

Temperature ¢ C)

Tove(h) - Tiveqh)
What canses us to experience day and night?

(1) The movement of the Sun across the sky.
2) The rotation of the Earth about its own axia.
3) The revolution of the Earth around the Sun.
@ ,Themovanmtoﬂthoonmthesky

/
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27. The Barth rotates anti-clockwise about its own axis. Planet Zemo rotates
clockwise.

light from the Sun
_—

—_—)
T

Planet Zemo

How would an Organism X on Planet Zemo see the Sun?

(1) It would see the Sun rise and set in the waest.

(2) It would see the Sun rise and set in the east.

(3) It would sce the Sunrise in the east and eet inthewest. - - -~ — -
(4) It would see the Sun rise in the west and set in the east.

28.  The diagram below shows a foy car on a slope.

Rick releases it at Point A such that it reaches the highest point E on the other side
of the slope. At which poiat would the toy car have the least amount of kinetic

energy? ‘
(1) PointE
(2) PointD
3) PointC
(4) PointB
CH/P&/SC/CA1/2005 1 l
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29.  The diagrams bolow show soms activities carried out by some individuals.

Which of the individuals experience 8 change in gravitational potential eaergy .as
the activities are being performed?

(1)
)
3)
C)

A and B only
B and C oaly
B, C and D only
A,B,CandD

30. The diagram shows a common telephone.

Which one of the following shows the carrect energy conversion from the
moment the telephone rings?

(1)
)
3)
@

Electrical Bnergy ——» Light Energy —» Heat Energy
Sound Energy—» Kinetic Energy— Heat Bnergy

12
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Section B: Open-Ended Questions (40 mariks)

Read the followimg questions carefully and write yeur answers in the space provided.
Thenaxlmummﬂ:sthtmbeawardedhslmatﬁendofuehqlmonor

part question.
31.  The classification table belowshowsdnm of some animals.

._- Animals
X .Y
.I . ' - | I
Lay egss Give birth to young alive LlyeTgs Givebirdabyoimgaﬁve
Butterfly . - * Goat \ s Owl .= Liom
s A ' = B = C s D
a) Give suitable headings for X-and Y. ' - [1m]}
X:
Y:

b) Based on the classification table above, write the letters A, B, CorDto .

represent ‘Crocodile * and ‘Saail’. [1m])
i) Crocodile:
ii) Snail:




32. The following diagram shows the length of time taken for the development of the
4 stages of the butterfly.

Cr g |"‘1J"| 1

L4 1 [t ] 1 |
0.2 468101214 16183)9.ng83),§2qu
- Numberofdays
a)  The shortest stage in thgelife of this butterfly is the _stage. [lm]

b) flfh;reaxg S __daysinthewelplﬂ-m-- : ' [lml

33. Mosquntoesarehannﬁﬂtohumsbbmthequrmddm Study the
life cycle of the mosquito shown below. )

D T
mmw\ Stage A

/W « Canfly ~ * Laid in pond/
Ja . 4 0 still water
Sta.ge C _
Lives in pond/ J R
still water
® Breathes in air w B
. "Lives in pond/still water
that is above the
water surface = Breathes in air that is
i above the water surface
a) Name a way we can get rid of mosquitoes at Stage B and C. [1m)
b) How can we prevent moequitoes from breeding? [1m)
CH/PG/SC/CA /2005 14




34.  Name the joint labelled X in the picture below. .

a) X: . [1m])

b).  What is the function of joints in our body? (1m]

35. meuébhnksw;ﬁmewmnu-emymm&:mhbm.[m]‘
In the human circulatory system, the heart acts as a.
sending blood to all parts of the body, supplying all its nesds. The hungs, on the
other hand, behaves like a filter, purifying the deoxygensted blood which flows
into it. “ |
Plants t00 have a transportation system. The tiny tubes found in plants
perform a similar function as that of the blood veseels. There are many differences
between them. One of the main differences is that in plants, water and food are
 transported via djfierent tubes. The tube which traneports food is known as
- while the one used for wateriscalled - - -
. Unlike humans, plants do not breathe with lungs.
However, they have tiny épeaings found mostly on the underside of leaves that
are known as » ,wﬁe_airminmdoutofme
plants.




36. Jurami wanted to investigate how the physical activities of an organism can affect
the rate of its respiration. He set up an experiment as shown below.

He monitored the rate at which the limewater changed when the mouse was
performing different activities. Afier each reading was taken, be changed a fresh
beaker of limewater. He also removed the stopper of the beaker containing the
mouse to ensure that it received a fresh supply of air. The experiment was carried
out in hailf a day to ensure that the mouse was not unduly stressed.

a) The table below shows the activitics the naouse was performing when the
readings were being taken. Number the activities according to how fast the
limewater had changed in the Raak c5umn; 1 for the fastest-and 3 for the
slowest. [tm]

Activities performed by the meunse RAEQ '
« Sleeping

« Running on & wheel for 15 mimutes. .

« Sniffing arouwnd the beaker slowly. ]

b) Why was limewawr‘med in this experiment? [Yam]

¢) Whatldndof‘chnge;-wwldlw-niqmeabowveinmelimewater?
[*2m]




37. 1 east cell was placed in some nutrient solution. The number of yeast cells was
counted under a microscope at the end of each hour. “The results were used to plot
a graph as shown below. _

Nemaber ol
yeasl oolls

Q2NDW AVNONDDO

—

° 1

o 4
"y N
.

a) . .Ba;egiondlegraph,whatmthenumb&'ofyawoensatthemdofﬂ)e:

i)  6thhour? yeast cells [1m)
b) wha;doywthmnsmeasinofmismw _ {1m]}
¢)  Afer the 1* hour, the yeast in a refrigerator at a
. .. temperature of 5°C. At the end ﬂnéf.hmlofﬁn,axpaimml.whuwill
" happen to the number of yeait cells? " [1m]
CHAGSCICAL200S 17




38.

39.

The table below shows the characteristics of 3 organiams. (3m]

Organism Able to Fixedina | Ableto make its | Depend on other

A

B

C o
Using the information given in the table above, comspiete the table below by
filling a tick (/) ia the correct box after each statessent. ‘

| Trwe |. False | Not Roasible to teit
a) | Organism A has legs. | o
b) | Organism B contains chiorophyil.

¢) | Organism C has flowers and bears fruits.

d) | Organism A is an cmnivore.
€) | Organism B is a fungi.
f) | Organism C needs water to susvive. l

Siti,AiLingandKnmarmlookingdmun&mmﬁtheuchool
aquarivm. They made the following statements.

Sit: Lmkattfwseaamaﬁ.ithscd&fnlﬂowmaadﬂems,aoit
' isaplant. N

AiLing: ltisaphmbwauseitdonmha;ahndymﬁkcmmiml.

Kumar: The sea anemone feeds on passing amimals with their stinging
tentacles. [ think it is an asimal.

a) Which child’s oba;ydhon was osrmect? (1m]

b) What are the 3 main characteristics 0 comsider when differentiating a
plant from an animal? . {1m]

c) How would you differentiate between an animal and a fiungws? ‘[ln‘ ; l

20



40.  Study the flow chart below and fill in the blanks with the most suitable answer.

»

Start

l

Does it allow lightto _ Yes -
passthrough? .~ C

lNo
L Does it float Y
Doss it allow heat to—N2_, ot ——> B
pass through easily?
Y
v
Is it easily broken?
- INo

|
A
a) Give an example of the material that A and B could be? (1m]

Material A:

Material B:

b) State another propesty of Material A that makes it suitable to be mada into
cooking utensils. ‘ [1m)

N

CHP&/SC/CALR00S 19 | > / |



41.  Ravi made 2 similar solid shapes using different materials zgahownbelow. Then
he used them as supports under a strong plank.He placed weights on the plank
until one of the supports gave way.

used as supports

weights

rd

a) Name 2 variables that should be kept constant in this experiment. [1ma]

b)  What is the relationship between the matorials and the weights it could support?
; _ [1m]

c) If Ravi were to change the colour of the materials, would it affect the results of
the experiment? _ (1m)

CHPG/SCITAL/2005 20
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42.

b)

c)

CIVPSSCACAI2005 21

Some pupils set up an experiment to investigate the effect of the Sun's heat on
paper of various colours. The pupils' made S ideatical cups but of different colours
A, B, C, D and E. An example of the set-up is shown below. They then left the 5
cups in a sunny place for a number of hours.

thermometer

lid of coloured paper

coloured paper

The graph below shows the temperature in each cup at different times.

T 40 ;
35 - pa R B ——— 4 . Vo
3] // + 1+ 1B
< %0 — C
g // —,d"” oweo g, D I
= 25 ‘I v .
O MV LT
B "lZEEET
104 -
o 1, 2 3 4 - -

Time (hours)
-Aﬁer4hours,whawasthednﬁ‘ermbetwemmehghenndloweu
temperature. recasded? [tm]

OC ‘

Which of the lines labelled A — E on the graph above would best represent a black

paper ¢ip? Give a reason for your answer. (1m]

Which of the lines labelled A- E would best reprcsent a colour that would be
suitable to make summer clothing? Give a reason for yowr anewer. [1m]




43.

b)

Theda@'ambelowshowsalaboruu'yﬂnrmom The readings of
temperatures are indicated by the letters A to E.

Using A to E, fill in the blanks with the appropriate letter. (3m]
()  Temperature of a typical day in Singapore. L
i) ~ Body temperature of a healthy individual o
iif)  Temperature at which water boils
v) Te@paaqmmwﬁnhmm
v)  Temperature of frozen foods in the freezer —

K

Label the part ‘bulb’ iri the thermometer shown above.

PlanetsRmdStnvebeeuﬁnmdbysunewm They also found some
information related to whether the planets could support any life form like those
found on Barth. The results are as follows:

Planets EBarth Planet R Planet S
Ahnoqihﬂic | 21% oxygen 20% oxygen 10% oxygen
conditions 0.03% carbon | -0.06%carbon | 50% carbon
dioxide dioxide dioxide

Distance from the Sun | 148 640 000 | 228 788.000 km 150 230 000
km ' km

a) Which planet takes the longest time to revolve round the Sun? Why? [1m]

b)  Give a reason why Planct R would most proliably be unable to support nfe. -
1m)




45.  Ahmad ussd a datalogger to measure the amount of light recsived from the Moon
over a period of one month. The data received from the datalogger was

represented on a graph as shown below.

.
L

Amount of light

CH/PS/SCICA /2005

Days

On the graph, mark with an (X) and label it “F” to indicate when it was
full moon. [“am]

Ontheg'aph,mprkﬁthm(X)Mhhdi!“N”,wmwhenﬁm
new moon. [¥m]

If Ahmad saw the full moon on Rebruary 1, when would he expect (o see
the new mooa? [1m]

25



46, The diagram below shows the expariment Xiso Hui set up. She wanted to find out
how the height of a ramp would afiect the amount of kinetic energy the moving
toy car possessed.

o L L T
0 0 A A A5 4

b) What would Xiao Hui need to record for the experiment? [1m])

c) Xiao Hui observed that the higher the ramp was raised, the further the car
moved. Explain ber observation. (2m]

CH/PS/BC/ICAN /2008 24
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08. 3 18. 3 28. 1
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31) a) X:Herbivores Y: Carnivores
b) i) C ii) A
32) a) esgsg b) 19
33) a) Pour o0il over the wvater to stop them from breathing.
b) We can check our flower pots if there are any water.
If there are, we should pour them out of the pots.
34) a) X : Hinge joint
b) Joints help us to bend our body to move different parts
of the body.
35) phloem # Pu.mf»u /PMP Syt em
xylem
stomata
36) a) 3 b) It is used to test for the presence of carbon
dioxide,.
1
2
¢) It will turn chalky/M;lKV
37) a) 1) 2 ii) 64
b) The aim is to find out how fast the yeast cell divides.
¢) There will be no change. There will be 2 yeast cells.
38) — v 39) a) fumar
b) I would differentiate them
\V4 based on their body form and
v their movement,
v ¢) A animal can move freely on
—_t their own wvhile a fungus cannot
v
v
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40)

41)

42)

43)

44)

45)

46)

a) Metal
Wood

b) It is strong

The position of the supoorts and the position of the
weight .

b) The stronger the support, the more weights it can
support.

¢) No, it would not. It would just either reflect light
or absorb light.

a) 22

b) A. Black absorbs heat, thus it is the hottest.

c) E. Tﬁis colour is the least hot as it could be a
ight colour, thus it reflects heat.

a)

A
E
1
C
D
B
B
A

\oul

b) am
& >
a) Planet R.. Planet R is further awvay from the sun so
takes a longer time to revolve round the sun.

b) I would be too cold as it is very far from the sun.
a) l
b)

N

c) February 14

a) The ramp and the car.
b) The distance moved by the car.

c) As the car moved higher, it gains more potential
energy, hence it will experience more kimetic
energy as it moves down the slope.
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